Sine & Cosine Ratio intro
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%
\7 The Sine ratio is 0.47 label the sides. Theta is not given
! 5 sinO= 0.4%
I
Hint**
_— Which numbers divide to give you 0.47?
b sn@= 0.497
kped
8 Which numbers divide to give you 0.47?

In this case it is 8/17
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Given the sine ratio above, what is angle theta?
9: g:'h-‘(D-%)
[
6~ 6%
[\
L@H Podkice -
e e -

Given an angle, determine the Sine Ratio
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Given a ratio determine the angle
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\7 : i 8 The Cosine ratio is 0.88 label the sides. Theta is not given
h TR (650 0 -88
b (050 0.%%
‘7 8 Which numbers divide to give you 0.88?
‘ In this case it is 15/17
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Given the angle, what is the cosine ratio?
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Given the ratio, determine the angle to the nearest degree

) wsh:0.0985 = I
9) cosf- 05371 = <
3) L05A7 D032 = )5°

Feedback and ticket out the door. On the post-it-note, answer the following question
1. What is one thing you understood? (be specific)

2. What is one thing you did not understand? (be specific)
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